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Problem quickname: 8201

1)
Calculate the result.

a) 800 + 60 = 860
d) 400 + 40 = 440
g) 700 + 50 = 750
i) 500 + 20 = 520

2)
Calculate the result.

a) 600 + 60 = 660
d) 300 + 30 = 330
g) 400 + 30 = 430
i) 500 + 80 = 580

3)
Calculate the result.

a) 714 + 80 = 794
d) 220 4 30 = 250
g) 728 + 40 = 768
i) 952 + 10 = 962
4)

Calculate the result.

a) 800 + 100 = 900
d) 500 + 300 = 800
g) 300 + 300 = 600

i) 100 + 500 = 600
Good Luck!
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b) 700 4 30 = 730
e) 900 4+ 10 = 910
h) 100 4 90 = 190

b) 500 + 70 = 570
e) 900 + 40 = 940
h) 600 + 40 = 640

b) 813 4 80 = 893
e) 557 + 30 = 587
h) 364 4 30 = 394

b) 300 + 500 = 800
e) 200 + 200 = 400
h) 400 + 300 = 700
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¢) 200 + 80 = 280
£) 600 + 30 = 630
i) 500 + 40 = 540

¢) 200 + 50 = 250
£) 600 4 70 = 670
i) 500 -+ 60 = 560

¢) 711 + 60 = 771
f) 241 4 50 = 291
i) 119 + 60 = 179

¢) 600 + 200 = 800
£) 300 + 400 = 700
i) 200 + 500 = 700
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